a(0 @) (raqd)

1072

SICEWATL

1072 i

n=
2
D_)_
o
<
107
1072
g nv
< i i i i
o L[] ! |
R 12 3

=
<

SO L W TUUEE TUUNE OO T OO0

23 -2 -1 0 1 2 3

3 -2 -1 1 2 3
TP n (PCA to beamline)

—— DQM_V0001_R000000001Global _mkFit_hptt
—— DOM_V0001_R000000001 _Global _mkFit_new

a(d cot(d))

H
S
o

1072 -

3
TP n (PCA to beamline)

M—s— DQM_VUUUI_RU0UU0U000T _Global_—mKFT_orginar
—— DQM_V0001_R000000001__Global_mkFit_pless

TP n (PCA to beamline)

TP n (PCA- to beamline)

oo a,) (cm)

z

102§

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


